## Article

# Anti-Periodic Boundary Value Problems for Nonlinear Langevin Fractional Differential Equations 

Fang Li, Hongjuan Zeng and Huiwen Wang *<br>School of Mathematics, Yunnan Normal University, Kunming 650092, China; fangli860@gmail.com (F.L.); hjzzeng@163.com (H.Z.)<br>* Correspondence: orwang@ustc.edu.cn

Received: 3 March 2019; Accepted: 25 March 2019; Published: 27 March 2019


#### Abstract

In this paper, we focus on the existence of solutions of the nonlinear Langevin fractional differential equations involving anti-periodic boundary value conditions. By using some techniques, formulas of solutions for the above problem and some properties of the Mittag-Leffler functions $E_{\alpha, \beta}(z), \alpha, \beta \in(1,2), z \in \mathbb{R}$ are presented. Moreover, we utilize the fixed point theorem under the weak assumptions for nonlinear terms to obtain the existence result of solutions and give an example to illustrate the result.


Keywords: nonlinear Langevin fractional differential equations; anti-periodic boundary value problem; Mittag-Leffler functions

## 1. Introduction

The application of fractional calculus is very broad, and the differential equations involving Riemann-Liouville and Caputo operators of fractional orders arise in many scientific disciplines, such as the mathematical modeling of earthquake analysis, mechanics and electricity, the memory of many kinds of material, electrolysis chemical, electronic circuits, etc. [1-6]. In recent years, the subject of fractional differential equations is gaining much importance and attention. For details, see [1-4,6-11] and the references therein.

In 1908, Langevin [12] applied Newton's second law to a Brownian particle to give an elaborate description of Brownian motion which is now called the "Langevin equation" [13].

The classical Langevin equation for the apparently random movement of a Brownian particle in a fluid due to collisions with the molecules of the fluid is described by

$$
m \frac{d^{2} x}{d t^{2}}=f=-\lambda \frac{d x}{d t}+\eta(t)
$$

where $x$ denotes the position of the particle, $m$ denotes the particle's mass, and $f$ denotes the force acting on the particle from molecules of the fluid surrounding the Brownian particle. The force $f$ may be written as a sum of two parts. The first one is the viscous force proportional to the particle's velocity with coefficient $\lambda$. The second one denoted by $\eta(t)$ is the random force arising from rapid thermal fluctuation [14].

The fractional Langevin equation was introduced by Mainardi et al. in the early 1990s [14,15]. Much work since then has been devoted to the study of the fractional Langevin equations in the field physics (e.g., [16-22]). Moreover, the fractional Langevin equations have been applied to describe various anomalous diffusive process, such as single file diffusion and crossover dynamics between different diffusive regimes (see, e.g., [23-26]).

Recently, there has been a significant development in solving fractional Langevin equation (see [7-10] and the references therein). To the best of our knowledge, there are few papers dealing with
anti-periodic BVP involving fractional Langevin equation with two fractional orders ${ }^{c} D_{0^{+}}^{\alpha} D_{0^{+}}^{\beta} u(\alpha \in$ $(0,1), \beta, \alpha+\beta \in(1,2))$ [10].

In this paper, we study the following anti-periodic boundary value problem of nonlinear fractional Langevin equations:

$$
\begin{align*}
& { }^{c} D_{0^{+}}^{\alpha}\left({ }^{c} D_{0^{+}}^{\beta}+\lambda\right) u(t)=f(t, u(t)), \quad t \in J:=(0,1]  \tag{1}\\
& u(0)+u(1)=0, u^{\prime}(0)+u^{\prime}(1)=0, \lim _{t \rightarrow 0^{+}} t^{\alpha}\left({ }^{H} D_{0^{+}}^{\xi, \alpha} u\right)(t)=0 \tag{2}
\end{align*}
$$

where $\alpha, \xi \in(0,1), \beta, \alpha+\beta \in(1,2), \lambda>0,0<\alpha+\xi-\alpha \xi<1 .{ }^{c} D_{0^{+}}^{*}$ is the standard Caputo fractional derivative, ${ }^{H} D_{0^{+}}^{\xi, \alpha}$ is the Hilfer fractional derivative, $f: J \times \mathbb{R} \rightarrow \mathbb{R}$ is an appropriate function to be specified later.

As mentioned in [7] and the references therein, the existence results of fractional differential equations involving Caputo differential operator of order $\alpha, \beta \in(0,1)$ are obtained by Mittag-Leffler functions $E_{\alpha}(z)$ and $E_{\alpha, \beta}(z)$, since $E_{\alpha}(z)$ and $E_{\alpha, \beta}(z)$ have "good" properties, such as explicit boundedness, monotonicity and nonnegativity. However, for $\alpha, \beta \in(1,2)$, the above properties do not hold anymore, which leads to difficulties for the theoretical analysis. In this paper, using some techniques, we study the properties of $E_{\beta}(z)$ and $E_{\beta, \theta}(z)(\beta, \theta \in(1,2))$ and obtain the existence result of solutions to (1) and (2) under the weak assumptions on $f(t, u(t))$.

The plan of this paper is as follows. In Section 2, we present some basic concepts, notations about fractional calculus. In Section 3, we prove some properties of Mittag-Leffler functions. In Section 4, we present the definition of solution to (1) and (2). In Section 5, we employ Krasnoselskii's fixed point theorem to obtain the existence of solutions to problem (1) and (2). An example is given in Section 6 to demonstrate the application of our result.

## 2. Preliminaries

In this paper, we denote by $C(J, \mathbb{R})$ the Banach space of all continuous functions from $J$ to $\mathbb{R}$, $L^{p}(J, \mathbb{R})$ the Banach space of all Lebesgue measurable functions $l: J \rightarrow \mathbb{R}$ with the norm $\|l\|_{L^{p}}=$ $\left(\int_{J}|l(t)|^{p} d t\right)^{\frac{1}{p}}<\infty$ and by $A C([a, b], \mathbb{R})$ the space of all absolutely continuous functions defined on $[a, b]$. Moreover, for $n=1,2$,

$$
A C^{n}([a, b], \mathbb{R})=\left\{f: f \in C^{n-1}([a, b], \mathbb{R}) \text { and } f^{(n-1)} \in A C([a, b], \mathbb{R})\right\}
$$

In particular, $A C^{1}([a, b], \mathbb{R})=A C([a, b], \mathbb{R})$.
Definition 1. [3,4] The fractional integral of order $\gamma$ with the lower limit a for a function $x(t) \in$ $L^{1}([a,+\infty), \mathbb{R})$ is defined as

$$
\left(I_{a^{+}}^{\gamma} x\right)(t)=\frac{1}{\Gamma(\gamma)} \int_{a}^{t}(t-s)^{\gamma-1} x(s) d s, \quad t>a, \quad \gamma>0
$$

where $\Gamma(\cdot)$ is the gamma function.
Definition 2. [3,4] If $x(t) \in A C^{n}([a, b], \mathbb{R})$, then the Riemann-Liouville fractional derivative ${ }^{L} D_{a^{+}}^{\gamma} x(t)$ of order $\gamma$ exists almost everywhere on $[a, b]$ and can be written as
$\left({ }^{L} D_{a^{+}}^{\gamma} x\right)(t)=\frac{1}{\Gamma(n-\gamma)}\left(\frac{d}{d t}\right)^{n} \int_{a}^{t}(t-s)^{n-\gamma-1} x(s) d s=\left(\frac{d}{d t}\right)^{n}\left(I_{a^{+}}^{n-\gamma} x\right)(t), \quad t>a, \quad n-1<\gamma<n$.

Definition 3. [3,4] If $x(t) \in A C^{n}([a, b], \mathbb{R})$, then the Caputo derivative ${ }^{c} D_{a^{+}}^{\gamma} x(t)$ of order $\gamma$ exists almost everywhere on $[a, b]$ and can be written as

$$
\left({ }^{c} D_{a^{+}}^{\gamma} x\right)(t)=\left({ }^{L} D_{a+}^{\gamma}\left[x(s)-\sum_{k=0}^{n-1} \frac{x^{(k)}(a)}{k!}(s-a)^{k}\right]\right)(t), \quad t>a, \quad n-1<\gamma<n
$$

Moreover, if $x(a)=x^{\prime}(a)=\cdots=x^{(n-1)}(a)=0$, then $\left({ }^{c} D_{a^{+}}^{\gamma} x\right)(t)=\left({ }^{L} D_{a^{+}}^{\gamma} x\right)(t)$.
Definition 4. [5] The Hilfer fractional derivative of order $0 \leq \gamma \leq 1$ and $0<\alpha<1$ with lower limit a is defined as

$$
\left({ }^{H} D_{a^{+}}^{\gamma, \alpha} x\right)(t)=I_{a^{+}}^{\gamma(1-\alpha)}\left({ }^{L} D_{a^{+}}^{\gamma+\alpha-\gamma \alpha} x\right)(t)
$$

We introduce the following fixed point theorem.
Theorem 1. (Krasnoselskii's fixed point theorem) Let B be a closed, convex, and nonempty subset of a Banach space $U$, and let $A_{1}, A_{2}$ be operators such that:
(i) $A_{1} u+A_{2} v \in B$ whenever $u, v \in B$,
(ii) $A_{1}$ is compact and continuous,
(iii) $A_{2}$ is a contraction mapping.

Then there exists $z \in B$ such that $z=A_{1} z+A_{2} z$.

## 3. Properties of Mittag-Leffler Functions

In this section, we prove some properties of the Mittag-Leffler functions.
Definition 5. [3,4] For $\mu, v>0, z \in \mathbb{R}$, the classical Mittag-Leffler functions $E_{\mu}(z)$ and the generalized Mittag-Leffler functions $E_{\mu, v}(z)$ are defined by

$$
E_{\mu}(z)=\sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\mu k+1)}, \quad E_{\mu, v}(z)=\sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\mu k+v)} .
$$

Clearly, $E_{\mu, 1}(z)=E_{\mu}(z)$.
Lemma 1. [3] If $1<\beta<2, \gamma$ is an arbitrary real number, $\frac{\pi \beta}{2}<\mu<\pi \beta$, then

$$
\left|E_{\beta, \gamma}(z)\right| \leq C, \quad \mu \leq|\arg z| \leq \pi, \quad|z| \geq 0,
$$

where $C$ is a positive constant.
Lemma 2. [4,11] For $\gamma, \mu, v, \lambda>0, t>0, g \in L(0, t)$, the usual derivatives of $E_{\mu, v}$ and the Riemann-Liouville integration of $E_{\mu, v}$ are expressed by
(i) $\left(\frac{d}{d t}\right)^{n}\left[t^{v-1} E_{\mu, v}\left(-\lambda t^{\mu}\right)\right]=t^{v-n-1} E_{\mu, v-n}\left(-\lambda t^{\mu}\right), \quad n \geq 1$;
(ii) $\frac{d}{d t} E_{\mu}\left(-\lambda t^{\mu}\right)=-\lambda t^{\mu-1} E_{\mu, \mu}\left(-\lambda t^{\mu}\right)$;
(iii) $I_{0+}^{\gamma}\left(s^{v-1} E_{\mu, v}\left(-\lambda s^{\mu}\right)\right)(t)=\frac{1}{\Gamma(\gamma)} \int_{0}^{t}(t-s)^{\gamma-1} s^{v-1} E_{\mu, v}\left(-\lambda s^{\mu}\right) d s=t^{\gamma+v-1} E_{\mu, \gamma+v}\left(-\lambda t^{\mu}\right)$;
(iv)

$$
\begin{aligned}
& \frac{1}{\Gamma(\gamma)} \int_{0}^{t} \int_{0}^{s}(t-s)^{\gamma-1}(s-\tau)^{\mu-1} E_{v, \mu}\left(-\lambda(s-\tau)^{v}\right) g(\tau) d \tau d s \\
= & \int_{0}^{t}(t-\tau)^{\gamma+\mu-1} E_{v, \gamma+\mu}\left(-\lambda(t-\tau)^{v}\right) g(\tau) d \tau
\end{aligned}
$$

Lemma 3. For $\lambda>0,1<\beta \leq 2, \theta>\beta$, the generalized Mittag-Leffler functions have the following properties:
(i) $E_{\beta, \beta}\left(-\lambda t^{\beta}\right)=\frac{1}{\Gamma(\beta-1)} \int_{0}^{1} E_{\beta}\left(-\lambda t^{\beta}{ }_{s} \beta\right)(1-s)^{\beta-2} d s$;
(ii) $E_{\beta, \theta}\left(-\lambda t^{\beta}\right)=\frac{1}{\Gamma(\theta-\beta)} \int_{0}^{1} E_{\beta, \beta}\left(-\lambda t^{\beta} s^{\beta}\right) s^{\beta-1}(1-s)^{\theta-\beta-1} d s$;
(iii) $t E_{\beta, 2}\left(-\lambda t^{\beta}\right)=\int_{0}^{t} E_{\beta}\left(-\lambda s^{\beta}\right) d s$.

Proof. We denote the beta function by $\mathbb{B}(\cdot, \cdot)$, then

$$
\begin{align*}
E_{\beta, \beta}\left(-\lambda t^{\beta}\right) & =\sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta}\right)^{k}}{\Gamma(\beta k+\beta)}=\frac{1}{\Gamma(\beta-1)} \sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta}\right)^{k} \mathbb{B}(\beta k+1, \beta-1)}{\Gamma(\beta k+1)} \\
& =\frac{1}{\Gamma(\beta-1)} \int_{0}^{1} \sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta} s^{\beta}\right)^{k}}{\Gamma(\beta k+1)}(1-s)^{\beta-2} d s \\
& =\frac{1}{\Gamma(\beta-1)} \int_{0}^{1} E_{\beta}\left(-\lambda t^{\beta} s^{\beta}\right)(1-s)^{\beta-2} d s \tag{3}
\end{align*}
$$

and

$$
\begin{align*}
E_{\beta, \theta}\left(-\lambda t^{\beta}\right) & =\sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta}\right)^{k}}{\Gamma(\beta k+\theta)}=\frac{1}{\Gamma(\theta-\beta)} \sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta}\right)^{k} \mathbb{B}(\beta k+\beta, \theta-\beta)}{\Gamma(\beta k+\beta)} \\
& =\frac{1}{\Gamma(\theta-\beta)} \int_{0}^{1} \sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta} s^{\beta}\right)^{k}}{\Gamma(\beta k+\beta)} s^{\beta-1}(1-s)^{\theta-\beta-1} d s \\
& =\frac{1}{\Gamma(\theta-\beta)} \int_{0}^{1} E_{\beta, \beta}\left(-\lambda t^{\beta} s^{\beta}\right) s^{\beta-1}(1-s)^{\theta-\beta-1} d s \tag{4}
\end{align*}
$$

Using Lemma 2 (i) for $v=2, n=1$, we obtain (iii).
Similar to the arguments in $[3,4]$, we can obtain the following results.
Lemma 4. For $\lambda>0, \alpha, \xi, \alpha+\xi-\alpha \xi \in(0,1), \theta>\alpha, \beta, \alpha+\beta \in(1,2)$, then
(i) $\left[{ }^{c} D_{0^{+}}^{\alpha} E_{\beta}\left(-\lambda s^{\beta}\right)\right](t)=-\lambda t^{\beta-\alpha} E_{\beta, \beta-\alpha+1}\left(-\lambda t^{\beta}\right)$.
(ii) $\left[{ }^{c} D_{0^{+}}^{\alpha} s^{\theta} E_{\beta, \theta+1}\left(-\lambda s^{\beta}\right)\right](t)=t^{\theta-\alpha} E_{\beta, \theta-\alpha+1}\left(-\lambda t^{\beta}\right)$,
(iii) $\left[{ }^{c} D_{0^{+}}^{\beta} s^{\beta} E_{\beta, \beta+1}\left(-\lambda s^{\beta}\right)\right](t)=E_{\beta}\left(-\lambda t^{\beta}\right),\left[{ }^{c} D_{0^{+}}^{\beta} s E_{\beta, 2}\left(-\lambda s^{\beta}\right)\right](t)=-\lambda t E_{\beta, 2}\left(-\lambda t^{\beta}\right)$.
(iv) $\left[{ }^{H} D_{0^{+}}^{\xi, \alpha} s^{\theta} E_{\beta, \theta+1}\left(-\lambda s^{\beta}\right)\right](t)=t^{\theta-\alpha} E_{\beta, \theta-\alpha+1}\left(-\lambda t^{\beta}\right)$.

Proof. From Lemma 2.7 of [11], (i) holds. From Definition 2-4 and Lemma 2, it follows that

$$
\begin{aligned}
{\left[{ }^{c} D_{0^{+}}^{\alpha} \theta^{\theta} E_{\beta, \theta+1}\left(-\lambda s^{\beta}\right)\right](t) } & =\frac{1}{\Gamma(1-\alpha)} \frac{d}{d t} \int_{0}^{t}(t-s)^{-\alpha} s^{\theta} E_{\beta, \theta+1}\left(-\lambda s^{\beta}\right) d s \\
& =\frac{d}{d t}\left[t^{\theta-\alpha+1} E_{\beta, \theta-\alpha+2}\left(-\lambda t^{\beta}\right)\right] \\
& =t^{\theta-\alpha} E_{\beta, \theta-\alpha+1}\left(-\lambda t^{\beta}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
{\left[{ }^{c} D_{0^{+}}^{\beta} s^{\beta} E_{\beta, \beta+1}\left(-\lambda s^{\beta}\right)\right](t) } & =\frac{1}{\Gamma(2-\beta)}\left(\frac{d}{d t}\right)^{2} \int_{0}^{t}(t-s)^{1-\beta}{ }_{s} \beta E_{\beta, \beta+1}\left(-\lambda s^{\beta}\right) d s \\
& =\frac{d^{2}}{d t^{2}}\left[t^{2} E_{\beta, 3}\left(-\lambda t^{\beta}\right)\right]=E_{\beta}\left(-\lambda t^{\beta}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
{\left[{ }^{c} D_{0^{+}}^{\beta} s E_{\beta, 2}\left(-\lambda s^{\beta}\right)\right](t) } & =\frac{1}{\Gamma(2-\beta)}\left(\frac{d}{d t}\right)^{2} \int_{0}^{t}(t-s)^{1-\beta}\left(s E_{\beta, 2}\left(-\lambda s^{\beta}\right)-s\right) d s \\
& =\left(\frac{d}{d t}\right)^{2}\left[t^{3-\beta}\left(E_{\beta, 4-\beta}\left(-\lambda t^{\beta}\right)-\frac{1}{\Gamma(4-\beta)}\right)\right] \\
& =\left(\frac{d}{d t}\right)^{2}\left[-\lambda t^{3} \sum_{k=0}^{\infty} \frac{\left(-\lambda t^{\beta}\right)^{k}}{\Gamma(\beta k+4)}\right] \\
& =-\lambda t E_{\beta, 2}\left(-\lambda t^{\beta}\right),
\end{aligned}
$$

and

$$
\begin{aligned}
& {\left[{ }^{H} D_{0^{+}}^{\xi, \alpha}\left(s^{\theta} E_{\beta, \theta+1}\left(-\lambda s^{\beta}\right)\right)\right](t) } \\
= & \frac{1}{\Gamma(1-\xi-\alpha+\alpha \xi)}\left[I_{0^{+}}^{\xi(1-\alpha)} \frac{d}{d s}\left(\int_{0}^{s}(s-\tau)^{\alpha \xi-\alpha-\xi} \tau^{\theta} E_{\beta, \theta+1}\left(-\lambda \tau^{\beta}\right) d \tau\right)\right](t \\
= & {\left[I_{0^{+}}^{\xi(1-\alpha)}\left(s^{\theta-\alpha-\xi+\alpha \xi} E_{\beta, 1+\theta-\alpha-\xi+\alpha \xi}\left(-\lambda s^{\beta}\right)\right)\right](t) } \\
= & t^{\theta-\alpha} E_{\beta, \theta-\alpha+1}\left(-\lambda t^{\beta}\right) .
\end{aligned}
$$

For $\lambda>0, \beta \in(1,2)$ and $\gamma>0$, from Lemma 3.2 in [10], we find that

$$
\begin{equation*}
E_{\beta, \gamma}\left(-\lambda t^{\beta}\right)=\int_{0}^{+\infty} Q(r, t) d r+V(t) \tag{5}
\end{equation*}
$$

where

$$
\begin{aligned}
Q(r, t) & =\frac{r^{\frac{1-\gamma}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)}{\pi \beta} \cdot \frac{r \sin (\pi(1-\gamma))+\lambda t^{\beta} \sin (\pi(1-\gamma+\beta))}{U(t)}, \\
U(t) & =r^{2}+2 \lambda r t^{\beta} \cos (\pi \beta)+\lambda^{2} t^{2 \beta}, \\
V(t) & =\frac{2 t^{1-\gamma}}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \cos \left[t \lambda^{\frac{1}{\beta}} \sin \frac{\pi}{\beta}-\frac{\pi}{\beta}(\gamma-1)\right] .
\end{aligned}
$$

Lemma 5. Let $\beta \in(1,2), \zeta \in(0,1], \theta>\beta$ be arbitrary. Then the functions $E_{\beta}, E_{\beta, \beta}, E_{\beta, \zeta}$ and $E_{\beta, \theta}$ have the following properties:
(i) For any $t \in J, E_{\beta}\left(-\lambda t^{\beta}\right) \leq 1, E_{\beta, \beta}\left(-\lambda t^{\beta}\right) \leq \frac{1}{\Gamma(\beta)}, E_{\beta, \theta}\left(-\lambda t^{\beta}\right) \leq \frac{1}{\Gamma(\theta)}$.
(ii) For any $t_{1}, t_{2} \in J$,

$$
\begin{aligned}
\left|E_{\beta}\left(-\lambda t_{2}^{\beta}\right)-E_{\beta}\left(-\lambda t_{1}^{\beta}\right)\right| & =O\left(\left|t_{2}-t_{1}\right|\right), \quad \text { as } \quad t_{2} \rightarrow t_{1} \\
\left|E_{\beta, \beta}\left(-\lambda t_{2}^{\beta}\right)-E_{\beta, \beta}\left(-\lambda t_{1}^{\beta}\right)\right| & =O\left(\left|t_{2}-t_{1}\right|\right), \quad \text { as } t_{2} \rightarrow t_{1} \\
\left|E_{\beta, \zeta}\left(-\lambda t_{2}^{\beta}\right)-E_{\beta, \zeta}\left(-\lambda t_{1}^{\beta}\right)\right| & =O\left(\left|t_{2}-t_{1}\right|\right), \quad \text { as } t_{2} \rightarrow t_{1} \\
\left|E_{\beta, \theta}\left(-\lambda t_{2}^{\beta}\right)-E_{\beta, \theta}\left(-\lambda t_{1}^{\beta}\right)\right| & =O\left(\left|t_{2}-t_{1}\right|\right), \quad \text { as } t_{2} \rightarrow t_{1} \\
\left|t_{2} E_{\beta, 2}\left(-\lambda t_{2}^{\beta}\right)-t_{1} E_{\beta, 2}\left(-\lambda t_{1}^{\beta}\right)\right| & =O\left(\left|t_{2}-t_{1}\right|\right), \quad \text { as } t_{2} \rightarrow t_{1}
\end{aligned}
$$

Proof. (i) From Lemma 3.4 of [10], we have $E_{\beta}\left(-\lambda t^{\beta}\right) \leq 1$. Using Lemma 3, the second and the third inequalities hold.
(ii) From (5), for $\beta \in(1,2), \zeta \in(0,1]$, we can see

$$
E_{\beta, \zeta}\left(-\lambda t^{\beta}\right)=\int_{0}^{+\infty} \widetilde{Q}(r, t) d r+\widetilde{V}(t)
$$

where

$$
\begin{aligned}
\widetilde{Q}(r, t) & =\frac{r^{\frac{1-\zeta}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)}{\pi \beta} \cdot \frac{r \sin \pi \zeta+\lambda t^{\beta} \sin (\pi(\zeta-\beta))}{U(t)}, \\
\widetilde{V}(t) & =\frac{2 t^{1-\zeta}}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \cos \left[t \lambda^{\frac{1}{\beta}} \sin \frac{\pi}{\beta}-\frac{\pi}{\beta}(\zeta-1)\right] .
\end{aligned}
$$

Clearly,

$$
\begin{equation*}
U(t)=\left(r+\lambda t^{\beta} \cos (\pi \beta)\right)^{2}+\lambda^{2} t^{2 \beta} \sin ^{2}(\pi \beta) \geq \lambda^{2} t^{2 \beta} \sin ^{2}(\pi \beta)>0, \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
U(t)=\left(r-\lambda t^{\beta}\right)^{2}+2 \lambda r t^{\beta}(\cos (\pi \beta)+1) \geq 4 \lambda r t^{\beta} \cos ^{2}\left(\frac{\pi \beta}{2}\right)>0 . \tag{7}
\end{equation*}
$$

Assume that $0<t_{1}<t_{2} \leq 1$, by (6), (7) and Lagrange's mean value theorem, we obtain

$$
\begin{align*}
&\left|\frac{1}{U\left(t_{2}\right)}-\frac{1}{U\left(t_{1}\right)}\right|=\frac{\left|U\left(t_{1}\right)-U\left(t_{2}\right)\right|}{U\left(t_{1}\right) U\left(t_{2}\right)} \leq \frac{\beta(\lambda+r)\left(t_{2}-t_{1}\right)}{8 \lambda r^{2} t_{1}^{2 \beta} \cos ^{4}\left(\frac{\pi \beta}{2}\right)}:=O\left(\left|t_{2}-t_{1}\right|\right),  \tag{8}\\
& \frac{\left|t_{1}^{\beta} U\left(t_{2}\right)-t_{2}^{\beta} U\left(t_{1}\right)\right|}{U\left(t_{1}\right) U\left(t_{2}\right)} \leq \frac{r^{2}\left(t_{2}^{\beta}-t_{1}^{\beta}\right)+\lambda^{2} t_{1}^{\beta} t_{2}^{\beta}\left(t_{2}^{\beta}-t_{1}^{\beta}\right)}{U\left(t_{1}\right) U\left(t_{2}\right)} \\
& \leq\left(\frac{1}{16 \lambda^{2} \cos ^{4}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\lambda^{2} \sin ^{4}(\pi \beta)}\right) \frac{t_{2}^{\beta}-t_{1}^{\beta}}{t_{1}^{\beta} t_{2}^{\beta}} \\
& \leq\left[\frac{1}{16 \cos ^{4}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\sin ^{4}(\pi \beta)}\right] \frac{\beta\left(t_{2}-t_{1}\right)}{\lambda^{2} t_{1}^{2 \beta}} \\
&:=O\left(\left|t_{2}-t_{1}\right|\right),
\end{align*}
$$

and

$$
\begin{align*}
& \left|\widetilde{V}\left(t_{2}\right)-\widetilde{V}\left(t_{1}\right)\right| \\
\leq & \frac{2\left|t_{2}^{1-\zeta}-t_{1}^{1-\zeta}\right|}{\beta \lambda^{1-\frac{1}{\beta}}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}}\left\{\left|\exp \left(t_{2} \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right)-\exp \left(t_{1} \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right)\right|\right. \\
& \left.+\exp \left(t_{1} \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right)\left|\cos \left[\lambda^{\frac{1}{\beta}} t_{2} \sin \frac{\pi}{\beta}-\frac{\pi}{\beta}(\zeta-1)\right]-\cos \left[\lambda^{\frac{1}{\beta}} t_{1} \sin \frac{\pi}{\beta}-\frac{\pi}{\beta}(\zeta-1)\right]\right|\right\} \\
\leq & \left(\frac{2}{\beta \lambda^{1-\frac{1}{\beta} t_{1}^{\zeta}}}+\frac{4 \lambda^{\frac{2}{\beta}-1}}{\beta}\right)\left(t_{2}-t_{1}\right):=O\left(\left|t_{2}-t_{1}\right|\right) . \tag{10}
\end{align*}
$$

According to (8)-(10), as $t_{2} \rightarrow t_{1}$, we arrive that

$$
\begin{aligned}
\left|E_{\beta, \zeta}\left(-\lambda t_{2}^{\beta}\right)-E_{\beta, \zeta}\left(-\lambda t_{1}^{\beta}\right)\right| \leq & \int_{0}^{\infty}\left|\widetilde{Q}\left(r, t_{2}\right)-\widetilde{Q}\left(r, t_{1}\right)\right| d r+\left|\widetilde{V}\left(t_{2}\right)-\widetilde{V}\left(t_{1}\right)\right| \\
\leq & \frac{1}{\pi \beta} \int_{0}^{\infty} r^{\frac{1-\zeta+\beta}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)\left(\left|\frac{1}{U\left(t_{2}\right)}-\frac{1}{U\left(t_{1}\right)}\right|\right) d r \\
& +\frac{\lambda}{\pi \beta} \int_{0}^{\infty} r^{\frac{1-\zeta}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right) \frac{\left|t_{1}^{\beta} U\left(t_{2}\right)-t_{2}^{\beta} U\left(t_{1}\right)\right|}{U\left(t_{1}\right) U\left(t_{2}\right)} d r+\left|\widetilde{V}\left(t_{2}\right)-\widetilde{V}\left(t_{1}\right)\right| \\
\leq & \frac{[\Gamma(2 \beta-\zeta+1)+\lambda \Gamma(\beta-\zeta+1)+\pi]}{\pi} \cdot O\left(\left|t_{2}-t_{1}\right|\right)=: O\left(\left|t_{2}-t_{1}\right|\right)
\end{aligned}
$$

In particular, when $\zeta=1$, we get $\left|E_{\beta}\left(-\lambda t_{2}^{\beta}\right)-E_{\beta}\left(-\lambda t_{1}^{\beta}\right)\right|=O\left(\left|t_{2}-t_{1}\right|\right)$. From Lemma 3, the remain estimates can be proved.

Remark 1. Obviously, for $\beta \in(1,2], z \in \mathbb{R}, E_{\beta}(z)$ and $E_{\beta, \beta}(z)$ are not always nonnegative.
Lemma 6. If $\lambda>0, \alpha \in(0,1), \beta, \alpha+\beta \in(1,2), t \in J$, then

$$
\begin{align*}
\left|t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)\right| & \leq \frac{\Gamma(\beta)}{\lambda^{2} \pi|\sin (\pi \beta)|} \cdot \frac{1}{t^{\beta}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right)  \tag{11}\\
\left|t E_{\beta, 2}\left(-\lambda t^{\beta}\right)\right| & \leq \frac{\Gamma(\beta-1)}{\lambda \pi|\sin (\pi \beta)|} \cdot \frac{1}{t^{\beta}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right)  \tag{12}\\
\left|t^{\alpha+\beta-1} E_{\beta, \alpha+\beta}\left(-\lambda t^{\beta}\right)\right| & \leq \frac{\Gamma(1-\alpha)}{\lambda \pi}\left[\frac{1}{4 \cos ^{2}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\sin ^{2}(\pi \beta)}\right] \frac{1}{t^{1-\alpha}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) . \tag{13}
\end{align*}
$$

Proof. From (5), we have

$$
\begin{aligned}
E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right) & =\int_{0}^{+\infty} Q_{1}(r, t) d r+\frac{2 t^{-\beta}}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \cos \left[t \lambda^{\frac{1}{\beta}} \sin \frac{\pi}{\beta}-\pi\right] \\
E_{\beta, 2}\left(-\lambda t^{\beta}\right) & =\int_{0}^{+\infty} Q_{2}(r, t) d r+\frac{2 t^{-1}}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \cos \left[t \lambda^{\frac{1}{\beta}} \sin \frac{\pi}{\beta}-\frac{\pi}{\beta}\right] \\
E_{\beta, \alpha+\beta}\left(-\lambda t^{\beta}\right) & =\int_{0}^{+\infty} Q_{3}(r, t) d r+\frac{2 t^{1-\alpha-\beta}}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \cos \left[t \lambda^{\frac{1}{\beta}} \sin \frac{\pi}{\beta}-\frac{\pi}{\beta}(\alpha+\beta-1)\right],
\end{aligned}
$$

where

$$
\begin{aligned}
& Q_{1}(r, t)=\frac{r^{-1} \exp \left(-r^{\frac{1}{\beta}}\right)}{\pi \beta} \cdot \frac{r \sin (-\pi \beta)}{U(t)} \\
& Q_{2}(r, t)=\frac{r^{-\frac{1}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)}{\pi \beta} \cdot \frac{\lambda t^{\beta} \sin (\pi(\beta-1))}{U(t)}, \\
& Q_{3}(r, t)=\frac{r^{\frac{1-\alpha-\beta}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)}{\pi \beta} \cdot \frac{r \sin (\pi(1-\alpha-\beta))+\lambda t^{\beta} \sin (\pi(1-\alpha))}{U(t)} .
\end{aligned}
$$

Using (6) and (7), we derive that

$$
\begin{aligned}
\left|Q_{1}(r, t)\right| & \leq \frac{\exp \left(-r^{\frac{1}{\beta}}\right)}{\lambda^{2} \pi \beta t^{2 \beta}|\sin (\pi \beta)|^{\prime}}, \quad\left|Q_{2}(r, t)\right| \leq \frac{r^{-\frac{1}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)}{\lambda \pi \beta t^{\beta}|\sin (\pi \beta)|^{\prime}} \\
\left|Q_{3}(r, t)\right| & \leq \frac{1}{\lambda \pi \beta t^{\beta}}\left[\frac{1}{4 \cos ^{2}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\sin ^{2}(\pi \beta)}\right] r^{\frac{1-\alpha-\beta}{\beta}} \exp \left(-r^{\frac{1}{\beta}}\right)
\end{aligned}
$$

then

$$
\begin{aligned}
\left|t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)\right| & \leq \frac{\Gamma(\beta)}{\lambda^{2} \pi|\sin (\pi \beta)|} \cdot \frac{1}{t^{\beta}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \\
\left|t E_{\beta, 2}\left(-\lambda t^{\beta}\right)\right| & \leq \frac{\Gamma(\beta-1)}{\lambda \pi|\sin (\pi \beta)|} \cdot \frac{1}{t^{\beta}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right) \\
\left|t^{\alpha+\beta-1} E_{\beta, \alpha+\beta}\left(-\lambda t^{\beta}\right)\right| & \leq \frac{\Gamma(1-\alpha)}{\lambda \pi}\left[\frac{1}{4 \cos ^{2}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\sin ^{2}(\pi \beta)}\right] \frac{1}{t^{1-\alpha}}+\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}} \exp \left(t \lambda^{\frac{1}{\beta}} \cos \frac{\pi}{\beta}\right)
\end{aligned}
$$

## 4. Solutions of BVP

In this section, we present the formulas of solutions to problem (1) and (2).
Lemma 7. [4] For $\theta>0$, a general solution of the fractional differential equation ${ }^{c} D_{0^{+}}^{\theta} u(t)=0$ is given by

$$
u(t)=\sum_{i=0}^{n-1} C_{i} t^{i}
$$

where $C_{i} \in \mathbb{R}, i=0,1,2, \cdots, n-1(n=[\theta]+1)$, and $[\theta]$ denotes the integer part of the real number $\theta$.
Lemma 8. For $\alpha \in(0,1), \beta \in(1,2), h \in L^{1}(0,1)$, if $^{c} D_{0^{+}}^{\alpha}\left({ }^{c} D_{0^{+}}^{\beta}+\lambda\right) u(t)=h(t), t \in J$, then

$$
u(t)=\sum_{i=1}^{2} C_{i} t^{i-1} E_{\beta, i}\left(-\lambda t^{\beta}\right)+C_{0} t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)+\int_{0}^{t}(t-s)^{\alpha+\beta-1} E_{\beta, \alpha+\beta}\left(-\lambda(t-s)^{\beta}\right) h(s) d s, \quad t \in J
$$

where $C_{i} \in \mathbb{R}, i=0,1,2$.
Formally, by Lemma 7, for $C_{i} \in \mathbb{R}(i=0,1,2)$, we have $\left({ }^{c} D_{0^{+}}^{\beta}+\lambda\right) u(t)=C_{0}+\left(I_{0^{+}}^{\alpha} h\right)(t)$ and

$$
u(t)=-\lambda\left(I_{0^{+}}^{\beta} u\right)(t)+I_{0^{+}}^{\beta}\left(C_{0}+\left(I_{0^{+}}^{\alpha} h\right)\right)(t)+C_{1}+C_{2} t .
$$

Based on the arguments of (see [4], pp. 222-223) and Lemma 2, we obtain

$$
\begin{aligned}
& u(t) \\
= & C_{1} E_{\beta}\left(-\lambda t^{\beta}\right)+C_{2} t E_{\beta, 2}\left(-\lambda t^{\beta}\right)+\int_{0}^{t}(t-s)^{\beta-1} E_{\beta, \beta}\left(-\lambda(t-s)^{\beta}\right)\left(C_{0}+\left(I_{0^{+}}^{\alpha} h\right)(s)\right) d s \\
= & C_{1} E_{\beta}\left(-\lambda t^{\beta}\right)+C_{2} t E_{\beta, 2}\left(-\lambda t^{\beta}\right)+C_{0} t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)+\int_{0}^{t} \int_{0}^{t-s} \frac{\tau^{\beta-1} E_{\beta, \beta}\left(-\lambda \tau^{\beta}\right)(t-s-\tau)^{\alpha-1} h(s)}{\Gamma(\alpha)} d \tau d s \\
= & C_{1} E_{\beta}\left(-\lambda t^{\beta}\right)+C_{2} t E_{\beta, 2}\left(-\lambda t^{\beta}\right)+C_{0} t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)+\int_{0}^{t}(t-s)^{\alpha+\beta-1} E_{\beta, \alpha+\beta}\left(-\lambda(t-s)^{\beta}\right) h(s) d s .
\end{aligned}
$$

We define $C_{\beta}([0,1], \mathbb{R})=\left\{u \in C(J, \mathbb{R}): t^{\beta} u(t) \in C([0,1], \mathbb{R})\right\}$ with the norm $\|u\|_{\beta}=$ $\max _{t \in[0,1]} t^{\beta}|u(t)|$ and we abbreviate $C_{\beta}([0,1], \mathbb{R})$ to $C_{\beta}$.
(H1) $f: J \times \mathbb{R} \rightarrow \mathbb{R}$ satisfies $f(\cdot, u): J \rightarrow \mathbb{R}$ is measurable for all $u \in \mathbb{R}$ and $f(t, \cdot): \mathbb{R} \rightarrow \mathbb{R}$ is continuous for a.e. $t \in J$, and there exists a function $\varphi \in L^{\frac{1}{p_{1}}}\left(J, \mathbb{R}^{+}\right)\left(0<p_{1}<\min \left\{\alpha, \frac{\alpha+\beta-1}{2}\right\}\right.$ such that $|f(t, u(t))| \leq \varphi(t)$.

Definition 6. A function $u: J \rightarrow \mathbb{R}$ is said to be a solution of (1) and (2) if
(i) $u \in A C^{2}(J, \mathbb{R})$;
(ii) $u$ satisfies the equation ${ }^{c} D_{0^{+}}^{\alpha}\left({ }^{c} D_{0^{+}}^{\beta}+\lambda\right) u(t)=f(t, u(t))$ on $J$;
(iii) $u(0)+u(1)=0, u^{\prime}(0)+u^{\prime}(1)=0, \lim _{t \rightarrow 0^{+}} t^{\alpha}\left({ }^{H} D_{0^{+}}^{\xi, \alpha} u\right)(t)=0$.

Lemma 9. For all $s_{1}, s_{2} \in J, s_{1}<s_{2}$,

$$
\int_{0}^{s_{1}}\left[\left(s_{2}-\tau\right)^{\alpha+\beta-2}-\left(s_{1}-\tau\right)^{\alpha+\beta-2}\right] \varphi(\tau) d \tau \rightarrow 0, \quad\left(s_{1} \rightarrow s_{2}\right)
$$

Proof. From the Hölder inequality, we have

$$
\begin{aligned}
& \left|\int_{0}^{s_{1}}\left[\left(s_{2}-\tau\right)^{\alpha+\beta-2}-\left(s_{1}-\tau\right)^{\alpha+\beta-2}\right] \varphi(\tau) d \tau\right| \\
\leq & \|\varphi\|_{L^{\frac{1}{p_{1}}}}\left[\int_{0}^{s_{1}}\left|\left(s_{2}-\tau\right)^{\alpha+\beta-2}-\left(s_{1}-\tau\right)^{\alpha+\beta-2}\right|^{\frac{1}{1-p_{1}}} d \tau\right]^{1-p_{1}} \\
= & (2-\alpha-\beta)\|\varphi\|_{L^{\frac{1}{p_{1}}}}\left[\int_{0}^{s_{1}}\left|\int_{s_{2}}^{s_{1}}(\xi-\tau)^{\alpha+\beta-3} d \xi\right|^{\frac{1}{1-p_{1}}} d \tau\right]^{1-p_{1}} \\
\leq & \tilde{M}\left[\int_{0}^{s_{1}}\left(\left(s_{1}-\tau\right)^{\delta}-\left(s_{2}-\tau\right)^{\delta}\right) d \tau\right]^{1-p_{1}} \\
= & \frac{\widetilde{M}}{(1+\delta)^{1-p_{1}}}\left[\left(s_{2}-s_{1}\right)^{1+\delta}-s_{2}^{1+\delta}+s_{1}^{1+\delta}\right]^{1-p_{1}} \rightarrow 0, \quad \text { as } \quad s_{2} \rightarrow s_{1} .
\end{aligned}
$$

where $\widetilde{M}>0$ is a constant, $\delta=\frac{\alpha+\beta-2-p_{1}}{1-p_{1}} \in(-1,0)$.
For $t \in J, y>p_{1}$, using the Hölder inequality, we have

$$
\begin{equation*}
\int_{0}^{t}(t-s)^{y-1} \varphi(s) d s \leq\left(\int_{0}^{t}(t-s)^{\frac{y-1}{1-p_{1}}} d s\right)^{1-p_{1}}\|\varphi\|_{L^{\frac{1}{p_{1}}}}=\left(\frac{1-p_{1}}{y-p_{1}}\right)^{1-p_{1}} t^{y-p_{1}}\|\varphi\|_{L^{\frac{1}{p_{1}}}} \tag{14}
\end{equation*}
$$

For convenience, we define

$$
\left(F^{\varsigma} u\right)(t)=\int_{0}^{t}(t-s)^{\varsigma-1} E_{\beta, \varsigma}\left(-\lambda(t-s)^{\beta}\right) f(s, u(s)) d s
$$

Lemma 10. Assume that (H1) holds. For $u \in C_{\beta}, t \in J$, we have
(i) $\left(F^{\alpha+\beta} u\right)(t) \in A C^{2}(J, \mathbb{R})$;
(ii) $\left[{ }^{c} D_{0^{+}}^{\beta}\left(F^{\alpha+\beta} u\right)\right](t)=\left(F^{\alpha} u\right)(t), \quad\left[{ }^{c} D_{0^{+}}^{\alpha}\left(F^{\alpha+\beta} u\right)\right](t)=\left(F^{\beta} u\right)(t)$;
(iii) $\left[{ }^{c} D_{0^{+}}^{\alpha}\left(F^{\alpha} u\right)\right](t)=-\lambda\left(F^{\beta} u\right)(t)+f(t, u(t))$;
(iv) $\left[{ }^{H} D_{0^{+}}^{\tilde{\xi}, \alpha}\left(F^{\alpha+\beta} u\right)\right](t)=\left(F^{\beta} u\right)(t)$.

Proof. It follows from the definition of derivative for the Lebesgue integration and (14) that

$$
\begin{equation*}
\frac{d}{d t}\left(F^{\alpha+\beta} u\right)(t)=\left(F^{\alpha+\beta-1} u\right)(t) \tag{15}
\end{equation*}
$$

Next, we show that $\left(F^{\alpha+\beta-1} u\right)(t) \in A C(J, \mathbb{R})$. For every finite collection $\left\{\left(a_{j}, b_{j}\right)\right\}_{1 \leq j \leq n}$ on $J$ with $\sum_{j=1}^{n}\left(b_{j}-a_{j}\right) \rightarrow 0$, noting Lemmas 1, 5 (ii), 9 and (14), we derive

$$
\begin{aligned}
& \sum_{j=1}^{n}\left|\left(F^{\alpha+\beta-1} u\right)\left(b_{j}\right)-\left(F^{\alpha+\beta-1} u\right)\left(a_{j}\right)\right| \\
\leq & \sum_{j=1}^{n} \int_{0}^{a_{j}}\left|\left(b_{j}-s\right)^{\alpha+\beta-2} E_{\beta, \alpha+\beta-1}\left(-\lambda\left(b_{j}-s\right)^{\beta}\right)-\left(a_{j}-s\right)^{\alpha+\beta-2} E_{\beta, \alpha+\beta-1}\left(-\lambda\left(a_{j}-s\right)^{\beta}\right)\right| \cdot|f(s, u(s))| d s \\
+ & \sum_{j=1}^{n} \int_{a_{j}}^{b_{j}}\left|b_{j}-s\right|^{\alpha+\beta-2}\left|E_{\beta, \alpha+\beta-1}\left(-\lambda\left(b_{j}-s\right)^{\beta}\right)\right| \cdot|f(s, u(s))| d s \\
\leq & \sum_{j=1}^{n} \int_{0}^{a_{j}}\left|\left(b_{j}-s\right)^{\alpha+\beta-2}-\left(a_{j}-s\right)^{\alpha+\beta-2}\right| \cdot\left|E_{\beta, \alpha+\beta-1}\left(-\lambda\left(b_{j}-s\right)^{\beta}\right)\right| \varphi(s) d s \\
+ & \sum_{j=1}^{n} \int_{0}^{a_{j}}\left|a_{j}-s\right|^{\alpha+\beta-2}\left|E_{\beta, \alpha+\beta-1}\left(-\lambda\left(b_{j}-s\right)^{\beta}\right)-E_{\beta, \alpha+\beta-1}\left(-\lambda\left(a_{j}-s\right)^{\beta}\right)\right| \varphi(s) d s \\
+ & \sum_{j=1}^{n} \int_{a_{j}}^{b_{j}}\left|b_{j}-s\right|^{\alpha+\beta-2}\left|E_{\beta, \alpha+\beta-1}\left(-\lambda\left(b_{j}-s\right)^{\beta}\right)\right| \varphi(s) d s \\
\rightarrow & 0
\end{aligned}
$$

Hence, $\left(F^{\alpha+\beta-1} u\right)(t)$ is absolutely continuous on $J$. Furthermore, for almost all $t \in J$, $\left[{ }^{c} D_{0^{+}}^{\beta}\left(F^{\alpha+\beta} u\right)(s)\right](t)$ and $\left[{ }^{c} D_{0^{+}}^{\alpha}\left(F^{\alpha+\beta} u\right)(s)\right](t)$ exist. Similarly, $\left[{ }^{c} D_{0^{+}}^{\alpha}\left(F^{\alpha} u\right)(s)\right](t)$ exists.

Moreover, similar to (15), one has

$$
\begin{equation*}
\frac{d^{2}}{d t^{2}}\left(F^{\alpha+2} u\right)(t)=\left(F^{\alpha} u\right)(t), \quad \frac{d}{d t}\left(F^{\beta+1} u\right)(t)=\left(F^{\beta} u\right)(t) \tag{16}
\end{equation*}
$$

Noting that Lemma 2 and (14) we can see

$$
\begin{equation*}
\left[I_{0^{+}}^{\gamma}\left(F^{\xi} u\right)\right](t)=\left(F^{\gamma+\xi} u\right)(t), \quad \text { for } \quad \gamma, \xi>0 \quad \text { and } \quad \gamma+\xi>p_{1} \tag{17}
\end{equation*}
$$

From the Definition 2, (16) and (17), we get

$$
\left[{ }^{c} D_{0^{+}}^{\beta}\left(F^{\alpha+\beta} u\right)\right](t)=\left(\frac{d}{d t}\right)^{2}\left[I_{0^{+}}^{2-\beta}\left(F^{\alpha+\beta} u\right)\right](t)=\left(\frac{d}{d t}\right)^{2}\left(F^{\alpha+2} u\right)(t)=\left(F^{\alpha} u\right)(t)
$$

and

$$
\begin{equation*}
\left[{ }^{c} D_{0^{+}}^{\alpha}\left(F^{\alpha+\beta} u\right)\right](t)=\frac{d}{d t}\left[I_{0^{+}}^{1-\alpha}\left(F^{\alpha+\beta} u\right)\right](t)=\frac{d}{d t}\left(F^{\beta+1} u\right)(t)=\left(F^{\beta} u\right)(t) \tag{18}
\end{equation*}
$$

and

$$
\begin{aligned}
{\left[{ }^{c} D_{0^{+}}^{\alpha}\left(F^{\alpha} u\right)\right](t) } & =\frac{d}{d t}\left[I_{0^{+}}^{1-\alpha}\left(F^{\alpha} u\right)\right](t)=\frac{d}{d t} \int_{0}^{t} E_{\beta}\left(-\lambda(t-\tau)^{\beta}\right) f(\tau, u(\tau)) d \tau \\
& =-\lambda \int_{0}^{t}(t-\tau)^{\beta-1} E_{\beta, \beta}\left(-\lambda(t-\tau)^{\beta}\right) f(\tau, u(\tau)) d \tau+f(t, u(t)) \\
& =-\lambda\left(F^{\beta} u\right)(t)+f(t, u(t))
\end{aligned}
$$

and

$$
\begin{equation*}
\left[{ }^{c} D_{0^{+}}^{\alpha+\xi-\alpha \xi}\left(F^{\alpha+\beta} u\right)\right](t)=\frac{d}{d t}\left[I_{0^{+}}^{1-\alpha-\xi+\alpha \xi}\left(F^{\alpha+\beta} u\right)\right](t)=\frac{d}{d t}\left(F^{1+\beta-\xi+\alpha \xi} u\right)(t)=\left(F^{\beta-\xi+\alpha \xi} u\right)(t) \tag{19}
\end{equation*}
$$

Noting that Definitions 3 and 4, (17) and (19) we obtain

$$
\begin{aligned}
& {\left[{ }^{H} D_{0^{+}}^{\xi, \alpha}\left(F^{\alpha+\beta} u\right)\right](t)=\left[I_{0^{+}}^{\xi(1-\alpha)}\left({ }^{L} D_{0^{+}}^{\alpha+\xi-\alpha \xi}\left(F^{\alpha+\beta} u\right)\right](t)\right.} \\
= & {\left[I_{0^{+}}^{\xi(1-\alpha)}\left({ }^{c} D_{0^{+}}^{\alpha+\xi-\alpha \xi} F^{\alpha+\beta} u\right)\right](t) } \\
= & {\left[I_{0^{+}}^{\xi(1-\alpha)}\left(F^{\beta-\xi+\alpha \xi} u\right)\right](t) } \\
= & \left(F^{\beta} u\right)(t) .
\end{aligned}
$$

For convenience, we shall use the following notation:

$$
M(\lambda)=E_{\beta, 2}(-\lambda) \cdot E_{\beta, \beta}(-\lambda)-E_{\beta, \beta+1}(-\lambda) \cdot\left(1+E_{\beta}(-\lambda)\right)
$$

Lemma 11. Assume that (H1) holds. A function $u$ is a solution of the following fractional integral equation

$$
\begin{equation*}
u(t)=(P u)(t)+(Q u)(t)+\left(F^{\alpha+\beta} u\right)(t) \tag{20}
\end{equation*}
$$

if and only if $u$ is a solution of the problem (1) and (2), where

$$
\begin{aligned}
& (P u)(t)=\frac{t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)\left(1+E_{\beta}(-\lambda)\right)-t E_{\beta, 2}\left(-\lambda t^{\beta}\right) E_{\beta, \beta}(-\lambda)}{M(\lambda)}\left(F^{\alpha+\beta} u\right)(1) \\
& (Q u)(t)=\frac{t E_{\beta, 2}\left(-\lambda t^{\beta}\right) E_{\beta, \beta+1}(-\lambda)-t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right) E_{\beta, 2}(-\lambda)}{M(\lambda)}\left(F^{\alpha+\beta-1} u\right)(1)
\end{aligned}
$$

Proof. (Sufficiency) Let $u$ be the solution of (1) and (2), Lemmas 8, 2 and 4 imply

$$
\begin{aligned}
u(t) & =a E_{\beta}\left(-\lambda t^{\beta}\right)+b t E_{\beta, 2}\left(-\lambda t^{\beta}\right)+c t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)+\left(F^{\alpha+\beta} u\right)(t) \\
u^{\prime}(t) & =(-\lambda a+c) t^{\beta-1} E_{\beta, \beta}\left(-\lambda t^{\beta}\right)+b E_{\beta}\left(-\lambda t^{\beta}\right)+\left(F^{\alpha+\beta-1} u\right)(t) \\
\left({ }^{H} D_{0^{+}}^{\xi, \alpha} u\right)(t) & =a t^{-\alpha} E_{\beta, 1-\alpha}\left(-\lambda t^{\beta}\right)+b t^{1-\alpha} E_{\beta, 2-\alpha}\left(-\lambda t^{\beta}\right)+c t^{\beta-\alpha} E_{\beta, \beta-\alpha+1}\left(-\lambda t^{\beta}\right)+\left(F^{\beta} u\right)(t),
\end{aligned}
$$

where $a, b, c$ are constants. Using the boundary value condition (2), we derive that $a=0$ and

$$
\left\{\begin{array}{l}
b E_{\beta, 2}(-\lambda)+c E_{\beta, \beta+1}(-\lambda)+\left(F^{\alpha+\beta} u\right)(1)=0 \\
b\left(1+E_{\beta}(-\lambda)\right)+c E_{\beta, \beta}(-\lambda)+\left(F^{\alpha+\beta-1} u\right)(1)=0
\end{array}\right.
$$

then

$$
\left\{\begin{array}{l}
b=\frac{-\left(F^{\alpha+\beta} u\right)(1) \cdot E_{\beta, \beta}(-\lambda)+\left(F^{\alpha+\beta-1} u\right)(1) \cdot E_{\beta, \beta+1}(-\lambda)}{M(\lambda)} \\
c=\frac{-\left(F^{\alpha+\beta-1} u\right)(1) \cdot E_{\beta, 2}(-\lambda)+\left(F^{\alpha+\beta} u\right)(1) \cdot\left(1+E_{\beta}(-\lambda)\right)}{M(\lambda)}
\end{array}\right.
$$

Now we can see that (20) holds.
(Necessity) Let $u$ satisfy (20). Noting that Lemma $10,\left({ }^{c} D_{0^{+}}^{\alpha}{ }^{c} D_{0^{+}}^{\beta} u\right)(t)$ exists and

$$
\begin{aligned}
& \left({ }^{c} D_{0^{+}}^{\alpha}{ }^{c} D_{0^{+}}^{\beta} u\right)(t) \\
= & \frac{-\lambda t^{\beta-\alpha} E_{\beta, \beta-\alpha+1}\left(-\lambda t^{\beta}\right)\left(1+E_{\beta}(-\lambda)\right)+\lambda t^{1-\alpha} E_{\beta, 2-\alpha}\left(-\lambda t^{\beta}\right) E_{\beta, \beta}(-\lambda)}{M(\lambda)}\left(F^{\alpha+\beta} u\right)(1) \\
& +\frac{-\lambda t^{1-\alpha} E_{\beta, 2-\alpha}\left(-\lambda t^{\beta}\right) E_{\beta, \beta+1}(-\lambda)+\lambda t^{\beta-\alpha} E_{\beta, \beta-\alpha+1}\left(-\lambda t^{\beta}\right) E_{\beta, 2}(-\lambda)}{M(\lambda)}\left(F^{\alpha+\beta-1} u\right)(1) \\
& -\lambda\left(F^{\beta} u\right)(t)+f(t, u(t)), \\
= & \lambda\left({ }^{c} D_{0^{+}}^{\alpha} u\right)(t) \\
& \lambda\left[\frac{t^{\beta-\alpha} E_{\beta, \beta-\alpha+1}\left(-\lambda t^{\beta}\right)\left(1+E_{\beta}(-\lambda)\right)-t^{1-\alpha} E_{\beta, 2-\alpha}\left(-\lambda t^{\beta}\right) E_{\beta, \beta}(-\lambda)}{M(\lambda)}\left(F^{\alpha+\beta} u\right)(1)\right. \\
& +\frac{t^{1-\alpha} E_{\beta, 2-\alpha}\left(-\lambda t^{\beta}\right) E_{\beta, \beta+1}(-\lambda)-t^{\beta-\alpha} E_{\beta, \beta-\alpha+1}\left(-\lambda t^{\beta}\right) E_{\beta, 2}(-\lambda)}{M(\lambda)}\left(F^{\alpha+\beta-1} u\right)(1) \\
& \left.+\left(F^{\beta} u\right)(t)\right],
\end{aligned}
$$

then ${ }^{c} D_{0^{+}}^{\alpha}\left({ }^{c} D_{0^{+}}^{\beta}+\lambda\right) u(t)=f(t, u(t))$ for $t \in J$. Clearly, the boundary value condition (2) holds and hence the necessity is proved.

For convenience of the following presentation, set

$$
\begin{aligned}
& A(\lambda)=\frac{\Gamma(1-\alpha)}{\lambda \pi}\left[\frac{1}{4 \cos ^{2}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\sin ^{2}(\pi \beta)}\right] \\
& B(\lambda)=\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}}, \quad C(\lambda)=\frac{\Gamma(\beta)}{\lambda^{2} \pi|\sin \pi \beta|}, \\
& N(\lambda)=\frac{(C(\lambda)+B(\lambda))\left|E_{\beta}(-\lambda)\right|+\left(\frac{\lambda C(\lambda)}{\beta-1}+B(\lambda)\right)\left|E_{\beta, \beta}(-\lambda)\right|}{|M(\lambda)|} \\
& R(\lambda)=\frac{\left(\frac{\lambda C(\lambda)}{\beta-1}+B(\lambda)\right)\left|E_{\beta, \beta+1}(-\lambda)\right|+(C(\lambda)+B(\lambda))\left|E_{\beta, 2}(-\lambda)\right|}{|M(\lambda)|} \\
& L(\lambda)=\left(A(\lambda)\left(\frac{1-p_{1}}{\alpha-p_{1}}\right)^{1-p_{1}}+B(\lambda)\right)\|\varphi\|_{L^{\frac{1}{p_{1}}}} \\
& \widetilde{L}(\lambda)=\left(A(\lambda)\left(\frac{1-p_{2}}{\alpha-p_{2}}\right)^{1-p_{2}}+B(\lambda)\right)\|\psi\|_{L^{\frac{1}{p_{2}}}}
\end{aligned}
$$

## 5. Existence Result

In this section, we deal with the existence of solutions to the problem (1) and (2). To this end, we consider the following assumption.
(H2) There exists a function $\psi \in L^{\frac{1}{p_{2}}}\left(J, \mathbb{R}^{+}\right)\left(p_{2} \in(0, \alpha)\right)$ such that

$$
|f(t, x)-f(t, y)| \leq \psi(t)\|x-y\|_{\beta} .
$$

Theorem 2. Assume that (H1) and (H2) are satisfied, then the problem (1) and (2) has at least a solution $u \in C_{\beta}(J)$ if $\widetilde{L}(\lambda)<1$.

Proof. We consider an operator $\mathcal{F}: C_{\beta} \rightarrow C_{\beta}$ defined by

$$
(\mathcal{F} u)(t)=(P u)(t)+(Q u)(t)+\left(F^{\alpha+\beta} u\right)(t)
$$

Clearly, $\mathcal{F}$ is well defined. Obviously, the fixed point of $\mathcal{F}$ is the solution of problem (1) and (2).
By (11)-(14) and (H1), the following inequalities hold:

$$
\begin{align*}
& \frac{t^{\beta}\left|t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right)\left(1+E_{\beta}(-\lambda)\right)-t E_{\beta, 2}\left(-\lambda t^{\beta}\right) E_{\beta, \beta}(-\lambda)\right|}{|M(\lambda)|} \leq N(\lambda) \\
& \frac{t^{\beta}\left|t E_{\beta, 2}\left(-\lambda t^{\beta}\right) E_{\beta, \beta+1}(-\lambda)-t^{\beta} E_{\beta, \beta+1}\left(-\lambda t^{\beta}\right) E_{\beta, 2}(-\lambda)\right|}{|M(\lambda)|} \leq R(\lambda) \\
& \left|\left(F^{\alpha+\beta} u\right)(t)\right| \leq A(\lambda) \int_{0}^{t}(t-s)^{\alpha-1} \varphi(s) d s+B(\lambda) \int_{0}^{t} \varphi(s) d s \leq L(\lambda) \tag{21}
\end{align*}
$$

Moreover, from Lemma 1, there exists a constant $\mathcal{C}$ such that $\left|E_{\beta, \alpha+\beta-1}\left(-\lambda t^{\beta}\right)\right| \leq \mathcal{C}$, then

$$
\begin{equation*}
\left|\left(F^{\alpha+\beta-1} u\right)(t)\right| \leq \mathcal{C} \int_{0}^{t}(t-s)^{\alpha+\beta-2} \varphi(s) d s \leq \mathcal{C}\left(\frac{1-p_{1}}{\alpha+\beta-1-p_{1}}\right)^{1-p_{1}}\|\varphi\|_{L^{\frac{1}{p_{1}}}} \tag{22}
\end{equation*}
$$

Furthermore

$$
\begin{equation*}
\|P u\|_{\beta} \leq N(\lambda) L(\lambda), \quad\|Q u\|_{\beta} \leq \mathcal{C} R(\lambda)\left(\frac{1-p_{1}}{\alpha+\beta-1-p_{1}}\right)^{1-p_{1}}\|\varphi\|_{L^{\frac{1}{p_{1}}}} \tag{23}
\end{equation*}
$$

Let $B_{r}=\left\{u \in C_{\beta}:\|u\|_{\beta} \leq r\right\}$, where $r \geq L(\lambda)(1+N(\lambda))+\mathcal{C} R(\lambda)\left(\frac{1-p_{1}}{\alpha+\beta-1-p_{1}}\right)^{1-p_{1}}\|\varphi\|_{L^{\frac{1}{p_{1}}}}$.
It follows from (21) and (23) that $\|(\mathcal{F} u)\|_{\beta} \leq r$. Now, we can see that $(\mathcal{F} u)(t) \in B_{r}$ for any $u \in B_{r}$ and $t \in J$.

Setting

$$
\left(\mathcal{F}_{1} u\right)(t)=(P u)(t)+(Q u)(t), \quad\left(\mathcal{F}_{2} u\right)(t)=\left(F^{\alpha+\beta} u\right)(t) .
$$

According to (H2), (13) and (14), we obtain

$$
\begin{aligned}
\left\|\mathcal{F}_{2} u-\mathcal{F}_{2} v\right\|_{\beta} & \leq\left(A(\lambda) \int_{0}^{t}(t-s)^{\alpha-1} \psi(s) d s+B(\lambda) \int_{0}^{t} \psi(s) d s\right) \cdot\|u-v\|_{\beta} \\
& \leq \widetilde{L}(\lambda)\|u-v\|_{\beta}, \text { for } u, v \in B_{r}
\end{aligned}
$$

This implies that $\mathcal{F}_{2}$ is a contraction mapping.
Let $\left\{u_{n}\right\}$ be a sequence such that $u_{n} \rightarrow u$ in $C_{\beta}$, then there exists $\varepsilon>0$ such that $\left\|u_{n}-u\right\|_{\beta}<\varepsilon$ for $n$ sufficiently large. By (H2), we have

$$
\left|f\left(t, u_{n}(t)\right)-f(t, u(t))\right| \leq \psi(t) \varepsilon
$$

Moreover, $f$ satisfies (H1), we get $f\left(t, u_{n}(t)\right) \rightarrow f(t, u(t))$ as $n \rightarrow \infty$ for almost every $t \in J$. Then (13), $\int_{0}^{t}(t-s)^{\alpha-1} \psi(s) d s \leq\left(\frac{1-p_{2}}{\alpha-p_{2}}\right)^{1-p_{2}}\|\psi\|_{L^{\frac{1}{p_{2}}}}$ and the Lebesgue dominated convergence theorem imply that $\left|\left(F^{\alpha+\beta} u_{n}\right)(t)-\left(F^{\alpha+\beta} u\right)(t)\right| \rightarrow 0$, furthermore,

$$
\left\|P u_{n}-P u\right\|_{\beta} \rightarrow 0, \quad \text { as } \quad n \rightarrow \infty
$$

Similarly, from Lemma 1 and $\int_{0}^{t}(t-s)^{\alpha+\beta-2} \psi(s) d s \leq\left(\frac{1-p_{2}}{\alpha+\beta-1-p_{2}}\right)^{1-p_{2}}\|\psi\|_{L^{\frac{1}{p_{2}}}}$, we derive $\left|\left(F^{\alpha+\beta-1} u_{n}\right)(t)-\left(F^{\alpha+\beta-1} u\right)(t)\right| \rightarrow 0$, then $\left\|Q u_{n}-Q u\right\|_{\beta} \rightarrow 0$, as $n \rightarrow \infty$. Now we see that $\mathcal{F}_{1}$ is continuous.

Moreover, by Lemmas 1 and 5, (21) and (22), $\left\{\left(\mathcal{F}_{1} u\right)(t): u \in B_{r}\right\}$ is an equicontinuous and uniformly bounded set. Then, $\mathcal{F}_{1}$ is a completely continuous operator on $B_{r}$. The proof now can be finished by using Theorem 1.

## 6. Application

In this section, we give an example to illustrate our result.

$$
\left\{\begin{array}{l}
{ }^{c} D_{0^{+}}^{\frac{2}{5}}\left({ }^{c} D_{0^{+}}^{\frac{3}{2}}+10\right) u(t)=\frac{\sin \left(2+t^{\frac{3}{2}} u(t)\right)}{\sqrt[10]{t}}, \quad t \in J:=(0,1]  \tag{24}\\
u(0)+u(1)=0, u^{\prime}(0)+u^{\prime}(1)=0, \lim _{t \rightarrow 0^{+}} t^{\frac{2}{5}}\left(D_{0^{+}}^{\frac{1}{3}, \frac{2}{5}} u\right)(t)=0
\end{array}\right.
$$

Corresponding to (1) and (2), we have $\alpha=\frac{2}{5}, \xi=\frac{1}{3}, \beta=\frac{3}{2}, \lambda=10, f(t, u(t))=\left(\sin \left(2+t^{\frac{3}{2}} u(t)\right)\right) / \sqrt[10]{t}$. The space $C_{\beta}:=\left\{u \in C(J, \mathbb{R}): t^{t^{\frac{3}{2}}} u(t) \in C([0,1], \mathbb{R})\right\}$ with the norm $\|u\|_{\frac{3}{2}}=\max _{t \in[0,1]} t^{\frac{3}{2}}|u(t)|$.

Obviously, $|f(t, u(t))| \leq \varphi(t)$ and $|f(t, u(t))-f(t, v(t))| \leq \psi(t)\|u-v\|_{\frac{3}{2}}$, where $\varphi(t)=\psi(t)=$ $\sqrt[{\frac{1}{10} \sqrt{t}}]{ } \in L^{\frac{1}{p_{2}}}[0,1]\left(p_{1}=p_{2}=\frac{1}{5}\right)$ and $\|\psi\|_{L^{\frac{1}{p_{2}}}}=2^{\frac{1}{5}}$. By direct computation, we have

$$
\begin{aligned}
A(\lambda) & =\frac{\Gamma(1-\alpha)}{\lambda \pi}\left[\frac{1}{4 \cos ^{2}\left(\frac{\pi \beta}{2}\right)}+\frac{1}{\sin ^{2}(\pi \beta)}\right]=\frac{3 \Gamma\left(\frac{3}{5}\right)}{20 \pi} \\
B(\lambda) & =\frac{2}{\beta \lambda^{1-\frac{1}{\beta}}}=\frac{4}{3 \times \sqrt[3]{10}},\left(\frac{1-p_{2}}{\alpha-p_{2}}\right)^{1-p_{2}}=4^{\frac{4}{5}} \\
\widetilde{L}(\lambda) & =\left(A(\lambda)\left(\frac{1-p_{2}}{\alpha-p_{2}}\right)^{1-p_{2}}+B(\lambda)\right)\|\psi\|_{L^{\frac{1}{p_{2}}}}=\left(\frac{3 \times 4^{\frac{4}{5}} \times \Gamma\left(\frac{3}{5}\right)}{20 \pi}+\frac{4}{3 \times \sqrt[3]{10}}\right) \times 2^{\frac{1}{5}} \approx 0.96<1 .
\end{aligned}
$$

Thus, by Theorem 2, problem (24) has at least one solution.

## 7. Conclusions

In this paper, we have presented existence results to the nonlinear Langevin fractional differential equations with the anti-periodic boundary value conditions and some properties of the Mittag-Leffler functions $E_{\beta}(z)$ and $E_{\beta, \theta}(z)(\beta, \theta \in(1,2))$. We prove the equivalence of the problem (1) and (2) and the integral Equation (20) under the weak assumption (H1). Moreover, when $\beta, \theta \in(1,2), E_{\beta}(z)$ and $E_{\beta, \theta}(z)$ do not possess the monotonicity and nonnegativity, using Lemma 6, we successfully obtain some estimates for the Mittag-Leffler functions. Our results are new and significantly contribute to the existing literature on fractional order differential equation with anti-periodic boundary value conditions. In fact, our approach is simple and can easily be applied to a variety of real world problems.

In this area, our future work will focus on studying the more complex model, such as the boundary value problem for the mixed type fractional differential equations with the Caputo and the Riemann-Liouville fractional derivative.

Author Contributions: All authors contributed equally.
Funding: This research was funded by National Natural Science Foundation of China grant number 11561077 and the Reserve Talents of Young and Middle-Aged Academic and Technical Leaders of the Yunnan Province grant number 2017HB021.

Acknowledgments: The authors would like to thank the editors and anonymous reviewers for their constructive comments and suggestions.

Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Miller, K.S.; Ross, B. An Introduction to the Fractional Calculus and Fractional Differential Equations; Wiley: New York, NY, USA, 1993.
2. Samko, S.G.; Kilbas, A.A.; Marichev, O.I. Fractional Integrals and Derivatives: Theory and Applications; Gordon and Breach Science Publishers: Yverdon, Switzerland, 1993.
3. Podlubny, I. Fractional Differential Equations, vol. 198 of Mathematics in Science and Engineering, 1st ed; Academic Press: San Diego, CA, USA, 1999.
4. Kilbas, A.A.; Srivastava, H.M.; Trujillo, J.J. Theory and Applications of Fractional Differential Equations; North-Holland Mathematics Studies; Elsevier Science Limited: New York, NY, USA, 2006.
5. Hilfer, R. (Ed.) Applications of Fractional Calculus in Physics; World Scientific: Singapore, 2000.
6. Zhou, Y. Basic Theory of Fractional Differential Equations; World Scientific: Singapore, 2014.
7. Wang, J.; Fĕckan, M.; Zhou, Y. Presentation of solutions of impulsive fractional Langevin equations and existence results. Eur. Phys. J. Spec. Top. 2013, 222, 1857-1874. [CrossRef]
8. Xian, L.; Sun, S.R.; Sun, Y. Existence of solutions for fractional Langevin equation with infinite-point boundary conditions. J. Appl. Math. Comput. 2017, 53, 683-692.
9. Yukunthorn, W.; Ntouyas, S.K.; Tariboon, J. Nonlinear fractional Caputo-Langevin equation with nonlocal Riemann-Liouville fractional integral conditions. Adv. Differ. Equ. 2014, 2014, 315. [CrossRef]
10. Guo, Z.Y.; Yu, X.L.; Wang, J.R. Nonlocal problems for Langevin-type differential equations with two fractional-order derivatives. Bound. Value Probl. 2016, 2016, 52. [CrossRef]
11. Miao, Y.S.; Li, F. Boundary value problems of the nonlinear multiple base points impulsive fractional differential equations with constant coefficients. Adv. Differ. Equ. 2017, 2017, 190. [CrossRef]
12. Langevin, P. On the theory of Brownian motion. Comptes Rendus de Academie Bulgare des Sciences 1908, 146, 530-533.
13. Kubo, R. The fluctuation-dissipation theorem. Rep. Prog. Phys. 1966, 29, 255-284. [CrossRef]
14. Mainardi, F.; Pironi, P. The fractional Langevin equation: Brownian motion revisited. Extr. Math. 1996, 10, 140-154.
15. Mainardi, F.; Pironi, P.; Tampieri, F. On a generalization of the Basset problem via fractional calculus. Proc. CANCAM 95 1995, 2, 836-837.
16. Zaslavsky, G.M. Chaos, fractional kinetics, and anomalous transport. Phys. Rep. 2002, 371, 461-580. [CrossRef]
17. del-Castillo-Negrete, D.; Carreras, B.A.; Lynch, V.E. Fractional diffusion in plasma turbulence. Phys. Plasmas 2004, 11, 3854-3864. [CrossRef]
18. Tarasov, V.E. Fractional Liouville and BBGKI equations. J. Phys. 2005, 7, 17-33. [CrossRef]
19. Tarasov, V.E. Fractional statistical mechanics. Chaos 2006, 16, 331081-331087. [CrossRef] [PubMed]
20. del-Castillo-Negrete, D. Non-diffusive, non-local transport in fluids and plasmas. Nonlinear Proc. Geophys. 2010, 17, 795-807. [CrossRef]
21. Kotelnikov, I.A. On the density limit in the helicon plasma sources. Phys. Plasmas 2014, 21, 122101. [CrossRef]
22. Anderson, J.; Moradi, S.; Rafiq, T. Non-linear Langevin and fractional Fokker-Planck equations for anomalous diffusion by Lévy stable processes. Entropy 2018, 20, 760. [CrossRef]
23. Kobelev, V.; Romanov, E. Fractional Langevin equation to describe anomalous diffusion. Prog. Theory Phys. Suppl. 2000, 139, 470-476. [CrossRef]
24. Lim, S.C.; Teo, L.P. Modeling single-file diffusion with step fractional Brownian motion and a generalized fractional Langevin equation. J. Stat. Mech. Theory Exp. 2009, 2009, P08015. [CrossRef]
25. Sandev, T.; Metzler, R.; Tomovski, Ž. Velocity and displacement correlation functions for fractional generalized Langevin equations. Fract. Calc. Appl. Anal. 2012, 15, 426-450. [CrossRef]
26. Sandev, T.; Metzler, R.; Tomovski, Ž. Correlation functions for the fractional generalized Langevin equation in the presence of internal and external noise. J. Math. Phys. 2014, 55, 023301. [CrossRef]
